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SECTION A (Reading): 40 marks 
 


TEXT A 
 
A1. How many people in the UK cycle at least once a month? [1] 


 
This question tests the ability to use deduction skills to retrieve information. 


 
Award one mark for the correct answer: 
5.2 million / 5.2m / 5,200,000 


 
 
A2.  Name one of the other triathlon sports that cyclists participate in.  [1] 
 


This question tests the ability to use deduction skills to retrieve information 
 


Award no more than one mark in total for any of the following: 


• Swimming 


• Running 
 
 
A3.  What is meant when the text states that the ratio of cyclists by gender is ‘more 


evenly split’? [1] 
 


This question tests the ability to use verbal reasoning and deduction skills to analyse 
information. 


 


In other sports more people taking part are male   


 


40% of cyclists are female  


 


The numbers of male and female cyclists are very different  


 


There is a more equal balance between male and female cyclists  


 


Almost a fifth of cyclists are females over 35 years  
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A10.  Synthesise what you learn about the Tour de France 2018 in Text C and Text D.
 [8] 


 
This question tests the ability to synthesise information effectively from more than  
one text, interpret meaning and ideas in a text and to use inference and  
deduction skills to retrieve and analyse details. 


 
Give 0 marks for responses where there is nothing worthy of credit. 


 
Give 1-2 marks to those who identify and begin to comment some details about the 
Tour de France.  These answers may restrict themselves to commenting on one text. 


 
Give 3-4 marks to those who identify and give straightforward comments about the 
Tour de France across the texts.   


 
Give 5-6 marks to those who explain a number of different comments about the Tour 
de France and may begin to show some understanding of implicit meaning. 


 
Give 7-8 marks to those who make a wide range of accurate and perceptive 
comments about the Tour de France.  Well-considered, confident collations skills will 
be evident. 


 
Details candidates may explore or comment on could be: 
 
Text C 


• It takes place over 21 stages 


• It began July 7 (in Noirmoutier-en-I’lle) 


• It finished July 29 (in Paris/ on Champs-Élysées) 


• It covered 3,351km 


• There were 2 time trial stages 


• There were 6 mountain stages 


• There were 2 rest days 


• 2 flight transfers were required 
 
Text D 


• It was won by Geraint Thomas 


• Dangerous – some riders crashed or injured (‘separated joints’/ ‘grated skin’) 


• Some riders don’t finish 


• Tour de France is cycling’s ‘biggest stage of all’ 


• It takes place over three weeks 


• Consistency is the key to winning 


• To win takes belief and training 


• It’s well supported 


• It ends on Champs-Élysées/in Paris 
 


Look for and reward valid alternatives. 
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A12.  What impressions does the writer create of William Vaughan? [10] 
 


This question tests the ability to refer to evidence within challenging texts and use 
inference and deduction skills to retrieve and analyse information.  


 
Give 0 marks for responses where there is nothing worthy of credit.  


 
Give 1-2 marks to those who identify and begin to comment on one or two superficial 
details with linked basic textual reference.  


 
Give 3-4 marks to those who identify and give straightforward comments on some  
impressions of William Vaughan supported by straightforward textual references.  


 
Give 5-6 marks to those who begin to show some understanding of character and 
appropriate textual references. Candidates begin to make inferences.  


 
Give 7-8 marks to those who make accurate comments about a range of well-
selected textual references. Candidates show awareness of the writer’s use of 
language and are able to make inferences.   


 
Give 9-10 marks to those who make accurate and perceptive comments about a 
wide range of convincing, well selected examples and purposeful textual references. 
Candidates analyse the writer’s use of language and make clear inferences. 


 
Details candidates may explore or comment on could be:  


• His ‘pride and joy’ is a car/his car is very important to him 


• He is ‘handsome’ and ‘young’ 


• He is more concerned about his car than the cyclist – contrast in actions towards 
car and then cyclist 


• His language towards the car is loving ‘my darling’ 


• He is the last member of ‘an ancient family’/previously well-to-do 


• There isn’t much money left (probably confirmed by him trying to sell his car) 


• He is selfish (inviting Hugh for dinner/ changing his mind about telling the council) 


• Unconcerned about the cyclist (‘stepping over the body’/ needs reminding by 
Hugh ‘you’re going to let that man bleed to death are you?’ 


• He knows accident was his fault (‘Sorry’/‘I always have trouble with that turning’) 


• He tries to pass the blame ‘you did come out of nowhere, sort of thing’. 


• He assumes he can sort the situation out with bluster and money (‘Just cuts and 
bruises’ / ‘Call it thirty shall we?’) 


• Unconcerned at the cyclist’s condition ‘bends down and stuffs the money’ 


• More interested in describing the drama of the accident (‘Did you see…’) 


• He returns to his concern for his car (‘pokes and prods’ etc) 


• Finally, he ‘skips into his car’ with blatant disregard for cyclist 
 
Look for and reward valid alternatives. 
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Editing (5 marks) 
 


In this part of the paper you will be assessed for the quality of your understanding and 
editing skills. 
 
A13.  Alun was much more ____(a)_____ about getting up on a Saturday morning for 


a bike ____(b)_____ than he was during the rest of the week when he knew he 
had to go to work. 


 
(a) Circle the word below that best fits gap (a): 


 
grumpy bouncing  enthusiastic excitable [1] 


 
(b) Circle the word below that best fits gap (b): 


 
rack pedal descent ride [1] 


 
 
A14.  Tick () the box of the sentence you think is grammatically correct. [1] 
 


Riding a bike is healthy, fun and can be did by all ages.  


 


Ride a bike is healthy, fun can be done by all ages.  


 


Riding a bike is healthy, fun and can be done by all ages.  


 


Ride a bike is healthy, fun and can be done by all ages.  
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A15. Read the text below and show your understanding by answering the questions 
that follow: 


 
1. The noise of cheers began to rise as the cyclists could be seen in the distance. 
2. The crowds had assembled early at the top of the hill. 
3. Many people were holding banners and flags. 
4. The lead cyclist reached the summit of the hill and in seconds was gone again. 
5. Some were even dressed in the brightly-coloured lycra of the team they 


supported. 
 


(a) Which sentence should come first in the text? Write the number of the 
sentence below. [1] 


 
2 


 
(b) Which sentence should come fifth in the text? Write the number of the 


sentence below.  [1] 
 


4 
 


The crowds had assembled early at the top of the hill.  Many people were 
holding banners and flags. Some were even dressed in the brightly-coloured 
lycra of the team they supported. The noise of cheers began to rise as the 
cyclists could be seen in the distance. The lead cyclist reached the summit of 
the hill and in seconds was gone again. 
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SECTION A (Reading): 40 marks 


TEXT A 


A1. How many people in the UK cycle at least once a month? [1] 


This question tests the ability to use deduction skills to retrieve information. 


Award one mark for the correct answer: 
5.2 million / 5.2m / 5,200,000 


A2. Name one of the other triathlon sports that cyclists participate in.  [1] 


This question tests the ability to use deduction skills to retrieve information 


Award no more than one mark in total for any of the following: 


• Swimming


• Running
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TEXT B 


A5. 
[4] 


What evidence is given in the text to show that the cycling industry is 
beneficial to the UK?  


This question tests the ability to interpret meaning and ideas in challenging 
writing. 


Award one mark for any of the following to a maximum total of four: 


• One of the ways to: ‘fix traffic congestion’/‘reduce pollution’/‘make folks healthy’


• People who cycle to work have ‘fewer days off sick’


• Worth more to the economy than the steel industry (three times more/more jobs)


• ’Cycling related businesses create £5.4 billion for the UK economy each year’


• Cycling related businesses ‘provide 64,000 jobs’


• Financially contributes to ‘mitigating climate change’


• Improves mental health / well-being of children


• Financial benefits of big sporting events like ‘Tour de Yorkshire’


• Wider economic benefits £4 generated for ‘every pound’ spent or ‘£450 bicycle’
sale generates ‘£1,800’
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TEXT C 
 
A6.  On which date did Tour de France 2018 start?  [1] 
 


This question tests the ability to use deduction skills to retrieve information. 
 


Award one mark for the correct answer: July 7, 2018 
 
 


A7. How many kilometres did Stage 14 cover? [1] 
 


This question tests the ability to use deduction skills to retrieve information. 
 


Award one mark for the correct answer: 188km 
 
 
A8.  Name one of the places where a rest day took place. [1] 
 


This question tests the ability to use deduction skills to retrieve information. 
 


Award one mark for one of the following: Annecy or Carcassonne 
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TEXT D 
 
A9. Read the paragraph which begins ‘I’m the kid who dreamed about the tour…’ 


In this paragraph, how does Geraint Thomas create the impression that his 
triumph was a dream come true? [5] 


 
This question tests the ability to refer to evidence within texts and use inference and 
deduction skills to retrieve and analyse information. 


 
Give 0 marks for responses where there is nothing worthy of credit. 


 
Give 1 mark to those who identify and begin to comment on superficial detail with 
basic textual reference. They may struggle to engage with the text and/or question. 


 
Give 2 marks to those who identify and give straightforward comments supported by 
straightforward textual references. These responses may rely on identifying 
evidence. 


 
Give 3 marks to those who consider different examples from the text.  These 
responses may show understanding of how language is used to achieve effect. 


 
Give 4 marks to those who make accurate comments about a range of carefully 
selected details and offer some analysis of how language is used to achieve effects.   


 
Give 5 marks to those who make accurate and perceptive comments about a wide  
range of details supported by convincing, well selected examples. Subtleties of the  
writer’s technique will be considered. 


 
Details candidates may explore or comment on could be:  


• He imagined it as ‘an impossible world’ 


• Rode up ‘Caerphilly mountain…and pretended I was riding away from the 
pursuing pack on Alpe d’Huez’ 


• ‘started on’ a cheap mountain bike called the Wolf’ / sense of humble beginnings 


• ‘ended on the Champs-Elysées’ / contrast to where he began / sense of glamour 


• ‘on a carbon-fibre wonder’ / sense of awe at achievement’ 


• ‘I rode towards ’places like Cowbridge and Merthyr’ with jam sandwiches in my 
back pocket’ / sense of a local lad / adds to sense of humble start / someone 
easy to relate to 


• ‘I celebrated in Paris with champagne in glass flutes’ builds on contrast /ultimate 
triumph / celebration 


 
Language details that might be considered: 


• use of contrast – before /after 


• dreamlike language 'dreamed’ / ‘imagined’ / ‘pretended’ – seems fantastical to 
him 


• use of first person – gives real insight into this being his dream 
 


Look for and reward valid alternatives. 
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SECTION B: 40 marks 
 


B1. In this task you will be assessed for the quality of your proofreading. 
 


Look carefully at the text below. Circle the 5 errors and write them correctly in 
the spaces below. [5] 


 
Cycling is a good way to control or reduce weight, as it raises your metabolic rate, 
builds muscle and burns body fat. For these people trying to lose weight, cycling 
must be conbined with healthy eating. Cycling is a comfortable form of exercise and 
can be built up slowly. the difficulty and lenth of time spent doing it can vary 
according to a persons fitness and ability. 


 
 Corrections 


1. those / these 
2. combined 
3. The 
4. length 
5. person’s 


 
B2.  In this task you will be assessed for the quality of your writing skills. 
 


20 marks are awarded for communication and organisation; 15 marks are 
awarded for writing accurately. 


 
You should aim to write about 350-500 words. 


 
Choose one of the following for your writing: [35] 


 
Either,  


 
(a) Write an account of a time you achieved something you had worked 


hard for. 
 
 


Or, 
 


(b) ʻSport is good for everyone.ʼ 
Write an essay explaining the importance of sport, giving clear reasons 
and examples. 
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B2 Assessment Criteria 
 


Band 
Communicating and organising (meaning, purpose, readers and 


structure) 
Band Writing accurately (language, grammar, punctuation and spelling) 


5 
 


(17-20 
marks) 


• Mature and perceptive writing 


• Sustained and effective writing with techniques that fully engage the 
reader’s interest 


• Appropriate register is confidently adapted to purpose/audience 


• Ideas are convincingly developed with detail, originality and creativity 


• Secure and coherent structure; there is sophistication in the shape and 
structure of the writing 


5 
 


(13-15 
marks) 


• Use a wide range of ambitious and appropriate vocabulary confidently to create 
effect or convey precise meaning 


• Appropriate and effective variation of sentence structures 


• Virtually all sentence construction is controlled and accurate 


• A range of punctuation is used confidently and accurately 


• Virtually all spelling, including that of complex irregular words, is correct 


• Control of tense and agreement is totally secure 


• Very secure command of grammar 


4 
 


(13-16 
marks) 


• Clearly controlled and well-judged writing 


• Shows secure understanding of the reader’s needs and how to hold 
interest with techniques used 


• Register is appropriately and consistently adapted to purpose/audience 


• Develops ideas with convincing detail and some originality and 
imagination 


• Writing is purposefully structured and clearly organised to give sequence 
and fluency 


4 
 


(10-12 
marks) 


• Use wide range of vocabulary with precision 


• Secure command of grammar 


• Sentence structure is varied to achieve effects 


• Control of sentence construction is secure 


• A range of punctuation is used accurately 


• Spelling, including that of irregular words, is secure 


• Control of tense and agreement is secure 


3 
 


(9-12 
marks) 


• Writing is mostly coherent and interesting 


• Clear awareness of the reader and some techniques used to meet their 
needs 


• Register is mostly appropriately adapted to purpose/audience 


• Ideas show development and there are some interesting effects in the 
writing 


• The writing is organised to give sequence and structure 


3 
 


(7-9 
marks) 


• Use a good range of vocabulary with some precision 


• Mostly consistent command of grammar 


• Sentence structures are varied 


• Control of sentence construction is mostly secure 


• A range of punctuation is used, mostly accurately 


• Most spelling, including that of irregular words, is correct 


• Control of tense and agreement is mostly secure 


2 
 


(5-8 
marks) 


• Some coherent writing 


• Some awareness how to create effect to interest the reader 


• A clear attempt to adapt register to purpose/audience 


• Develops some ideas with an occasional interesting effect 


• There is some organisation, some sequencing of ideas 


2 
 


(4-6 
marks) 


• Use some range of vocabulary 


• Command of grammar is inconsistent 


• There is some variety of sentence structure 


• There is some control of sentence construction 


• Some control of a range of punctuation 


• Spelling is usually accurate 


• Control of tense and agreement is generally secure 


1 
 


(1-4 
marks) 


• Basic coherence in the writing 


• Limited awareness of the reader 


• Some attempt to adapt register to purpose/audience 


• Some relevant content but uneven 


• Basic organisation; simple sequencing of ideas 


1 
 


(1-3 
marks) 


• Limited range of vocabulary 


• Limited range of sentence structures 


• Control of sentence construction is limited 


• There is some attempt to use punctuation 


• Some spelling is accurate 


• Control of tense and agreement is limited 


• Limited command of grammar 


0 marks Nothing worthy of credit 


In expository writing, candidates are expected to present reasons or explanations based on the understanding and synthesis of ideas/information gleaned from texts read and from other personal experiences 
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Examiner
only


SECTION A (Reading): 40 marks


In the separate Resource Material there are five texts on the theme of ‘Cycling’ labelled 
Text A–E. Read each text carefully and answer all the questions below that relate to each of the 
texts.


TEXT A


A1.	 How many people in the UK cycle at least once a month?� [1]


	


A2.	Name one of the other triathlon sports that cyclists are likely to participate in. � [1]


	


A3.	 What is meant when the text states that the ratio of cyclists by gender is ‘more evenly split’?
	 Tick (√) the correct box.� [1]


		  In other sports more people taking part are male 
�
		  40% of cyclists are female
�
		  The numbers of male and female cyclists are very different
�
		  There is a more equal balance between male and female cyclists
�
		  Almost a fifth of cyclists are females over 35 years
�
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0
0
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2


0
1A


0
3


Turn over.


Text A is an information text written about the use of bicycles in the UK.


40%
60%


The split of participants by 
gender is good for cycling 
and more evenly split than 
many other sports, with a 
60:40 male-female ratio


Cyclists are also most 
likely to participate in the 


other triathlon sports of 
swimming and running


Almost a fifth of 
participants are females 


over 35 years


93% of cyclists list health 
and fitness as a reason for 
participating in the sport


The UK has 5.2m “core 
cyclists” (who cycle at 
least once a month)


Bikes by numbers








Turn over.
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A10.	 Synthesise what you learn about the Tour de France 2018 in Text C and Text D. � [8]
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Text C is an infographic providing information about the Tour de France 2018.


Tour de
France
2018
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Text D is adapted from the autobiography ‘The Tour According to G’ by Geraint Thomas.


Each time someone says to me – ‘Hey, you won the Tour de France!’ – it hits me afresh. Oh yeah. I 
did. I won the Tour de France! 


No crashes this time. The crashes were for others. No being wiped out, no separated joints, no 
grated skin. No ambulance, no early departure, no watching someone else achieve all they ever 
wanted while I struggled to get off my sofa. 


I kept the belief, even when some of the critics doubted. I always knew I could beat those riders, 
but to do so consistently across three weeks, on the biggest stage of all? I hoped, and I knew it 
could be done, and I did everything I could in training and at home to make it possible. 


The support I have enjoyed on the roadside and back in Britain and on social media has been the 
most wonderful gift. I am grateful for every Welsh and British flag I saw fluttering against that blue 
July sky in France, for every yell of encouragement my ears caught as I battled up the Tourmalet 
and La Rosière and the Col du Portet. All those familiar faces in Paris, all the banners and face 
painting, all the flights booked, trains jumped on and cars filled with petrol and brought across the 
Channel. It’s the strongest tailwind any cyclist could hope to have. 


I’m the kid who dreamed about the Tour but imagined it as an impossible world. I’m the boy 
who rode up little Caerphilly mountain outside Cardiff and pretended I was riding away from the 
pursuing pack on Alpe d’Huez. I started on a cheap mountain bike called the Wolf that had a little 
speaker on the handlebars that could make police siren and fire engine noises, and I ended on the 
Champs-Élysées on a carbon-fibre wonder painted yellow. I rode towards places like Cowbridge 
and Merthyr with jam sandwiches in my back pockets, freezing on winter mornings and being so 
exhausted when I got home that I had to press the doorbell with my forehead, and I celebrated in 
Paris with champagne in glass flutes.


No more the nearly man. No more the rider who could do everything except hold onto the biggest 
prizes of all. No more talk of cracking in the third week, and no more giving my all just in the 
service of someone else. It happened, eventually. One year, one race, I showed them. 


A lot about me stayed the same in 2018. But something changed, too. The boy who climbed a 
mountain climbed to the top of the world. And it was all yellow.
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TEXT E


A11.	 The writer describes William Vaughan’s car as ‘askew to the road’. What is meant by the 
word ‘askew’? Tick (√) the correct box. � [1]


		  parked
�
		  not straight
�
		  upside down
�
		  straight
�


A12.	 What impressions does the writer create of William Vaughan?	 [10]
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Text E is adapted from the novel ‘August’ by Gerard Woodward.


From the distance, comes a noise – a grinding of gears, a spurt of exhaust, a howling scrape 
of tyres on tarmac, the dull crunch of metal against stone and a shout that sounds like the word 
‘Ouch!’ yelled at full force, an ‘Ouch!’ that seems to fill the countryside, bouncing off the walls of 
Brythwch Castle, the cliffs of Cadair and out to sea.
Hugh looks down upon a scene that makes him hold his cap over his mouth.
William Vaughan’s pride and joy, his freshly waxed car, an Armstrong Siddeley Star Sapphire 
Saloon, is askew to the road but parallel with a cyclist and his bike. The cyclist is lying on his back, 
his eyes closed. The front wheel of his bike is twisted into a figure eight. Bags and leather-strapped 
panniers are scattered about him. 
The cyclist laughs suddenly and grows from his nostrils a moustache of blood. 
William Vaughan, a handsome young man with hair scraped back, steps out of his car and runs 
his fingers lightly over his damaged headlight. He moves a piece of chrome bumper gingerly with 
his foot, then goes over to the cyclist, his feet almost cradling the wounded man’s head, like a 
footballer impatient for kick off.
‘Can you believe it?’ he says to Hugh, who he has just noticed. ‘I was on my way to see a buyer for 
my darling car. A man in Shrewsbury. He’s promised me the going rate and I’ve told him it’s in mint 
condition. Spent the whole morning waxing her. Now this happens.’
Hugh has known William Vaughan since he was a baby. William is the last member of an ancient 
family that once owned nearly all the land in Y Lledrith. Hugh is a tenant on his estate, as was his 
father and his father before him. Times are hard now for the Vaughans. Portions of the estate have 
been sold off and there isn’t a great deal left. William has recently been encouraging Hugh to buy 
the freehold of his tenancy.
‘I was going to ask you, Hugh,’ he says, stepping over the body of the cyclist, ‘if you and Dorothy 
would care to come up to the Hall one evening next week for supper.’
‘You’re going to let that man bleed to death are you?’
William turns.
‘Sorry,’ he says to the fallen cyclist, ‘but you did come out of nowhere, sort of thing. I always have 
trouble with that turning. I keep telling them they need one of those mirrors there, but they expect 
me to pay for it. You should tell the council. Actually, better not. Just cuts and bruises isn’t it?’
He reaches inside his jacket for his wallet. 
‘And your front wheel. Shall we call it twenty pounds?’
The cyclist coughs, sending up a spray of red bubbles.
‘Call it thirty shall we?’ William goes on, extracting a third note.
William bends down and stuffs the money into the cyclist’s breast pocket.
‘We’ll say no more about it,’ William smiles, reaching out for the cyclist’s hand, lifting him up.
‘Did you see the way he went flying Hugh? Like a bloody bird.’ He describes the cyclist’s path with 
his right hand, a graceful arc through the air. Then he offers him his hanky. The cyclist holds the 
crumpled white thing to his nose, then looks at his jacket elbows to see if they are torn. William 
pokes and prods his headlights, rests his hand on the bonnet, tuts, shakes his head, mutters the 
words ‘mint condition’ several times, sighs and then, with a final repetition of his invitation to Hugh 
and his wife, skips into his car saying he doesn’t want to be late for his appointment in Shrewsbury.
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Editing (5 marks)


In this part of the paper you will be assessed for the quality of your understanding and editing 
skills.


A13.	 Alun was much more      a      about getting up on a Saturday morning for a bike      b      
than he was during the rest of the week when he knew he had to go to work.


	 (a)	 Circle the word below that best fits gap a:


		  grumpy	 bouncing	 enthusiastic	 excitable� [1]


	 (b)	 Circle the word below that best fits gap b:


		  rack	 pedal	 descent	 ride� [1]


A14.	 Tick (√) the box of the sentence which is grammatically correct.� [1]


	 Riding a bike is healthy, fun and can be did by all ages.
�
	 Ride a bike is healthy, fun can be done by all ages.
�
	 Riding a bike is healthy, fun and can be done by all ages.
�
	 Ride a bike is healthy, fun and can be done by all ages.
�


A15.	 Read the text below which consists of sentences in the wrong order. Show your 
understanding by answering the questions that follow:


	 1.	 The noise of cheers began to rise as the cyclists could be seen in the distance.


	 2.	 The crowds had assembled early at the top of the hill.


	 3.	 Many people were holding banners and flags.


	 4.	 The lead cyclist reached the summit of the hill and in seconds was gone again.


	 5.	 Some were even dressed in the brightly-coloured lycra of the team they supported.


	 (a)	 Which sentence should come first in the text? Write the number of the sentence below.
� [1]
	


	 (b)	 Which sentence should come fifth in the text? Write the number of the sentence below.
� [1]
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SECTION A (Reading): 40 marks


In the separate Resource Material there are five texts on the theme of ‘Cycling’ labelled 
Text A–E. Read each text carefully and answer all the questions below that relate to each of the 
texts.


TEXT A


A1.	 How many people in the UK cycle at least once a month?� [1]


A2.	Name one of the other triathlon sports that cyclists are likely to participate in. [1]
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Text A is an information text written about the use of bicycles in the UK.


40%
60%


The split of participants by 
gender is good for cycling 
and more evenly split than 
many other sports, with a 
60:40 male-female ratio


Cyclists are also most 
likely to participate in the 


other triathlon sports of 
swimming and running


Almost a fifth of 
participants are females 


over 35 years


93% of cyclists list health 
and fitness as a reason for 
participating in the sport


The UK has 5.2m “core 
cyclists” (who cycle at 
least once a month)


Bikes by numbers
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A5. 	What evidence is given in the text to show that the cycling industry is beneficial to the UK? � [4]
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Text B is adapted from a cycling blog on a national newspaper’s website.


UK cycling is worth more than the UK steel industry 
Cycling is one of the ways to fix traffic congestion, reduce pollution and make us healthy. People 
who cycle to work even have fewer days off sick. But the cycle industry isn’t currently considered 
to be important by our government and that attitude needs to change. A new report argues we’d all 
benefit if the government started taking the cycle industry seriously.


The report reveals that the UK cycle industry is no lightweight: it is actually worth three times more 
than the UK steel industry, and employs twice as many people. Cycling-related businesses create 
£5.4 billion for the UK economy each year, and they provide 64,000 jobs – some in bike shops, but 
most in some sort of cycle tourism. The report estimates that a bicycle is sold roughly every 10 
seconds.


The benefits identified by the report do not include cycling’s financial contribution to easing climate 
change damage, improving mental health and boosting the well-being of children. More financial 
benefits would be added if sporting events, such as the Tour de Yorkshire, were also included.


The report estimates that for every pound spent on a bicycle, the UK economy benefits by £4. The 
sale of a £450 bicycle generates national economic benefits of around £1,800. The report points 
out that if the government meets its own target to double cycle usage by 2025, then cycling will 
deliver a £10 billion boost to the economy, providing more than 100,000 jobs.
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TEXT C


A6. 	On which date did the Tour de France 2018 start?� [1]


	


A7.	 How many kilometres did Stage 14 cover?� [1]


	


A8. 	Name one of the places where a rest day took place.� [1] 
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Text C is an infographic providing information about the Tour de France 2018.
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Text C is an infographic providing information about the Tour de France 2018.
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Text C is an infographic providing information about the Tour de France 2018.
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TEXT D


A9.	 Read the paragraph which begins ‘I’m the kid who dreamed about the Tour…’.
	 In this paragraph, how does Geraint Thomas create the impression that his triumph was a 


dream come true?� [5]
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Text D is adapted from the autobiography ‘The Tour According to G’ by Geraint Thomas.


Each time someone says to me – ‘Hey, you won the Tour de France!’ – it hits me afresh. Oh yeah. I 
did. I won the Tour de France! 


No crashes this time. The crashes were for others. No being wiped out, no separated joints, no 
grated skin. No ambulance, no early departure, no watching someone else achieve all they ever 
wanted while I struggled to get off my sofa. 


I kept the belief, even when some of the critics doubted. I always knew I could beat those riders, 
but to do so consistently across three weeks, on the biggest stage of all? I hoped, and I knew it 
could be done, and I did everything I could in training and at home to make it possible. 


The support I have enjoyed on the roadside and back in Britain and on social media has been the 
most wonderful gift. I am grateful for every Welsh and British flag I saw fluttering against that blue 
July sky in France, for every yell of encouragement my ears caught as I battled up the Tourmalet 
and La Rosière and the Col du Portet. All those familiar faces in Paris, all the banners and face 
painting, all the flights booked, trains jumped on and cars filled with petrol and brought across the 
Channel. It’s the strongest tailwind any cyclist could hope to have. 


I’m the kid who dreamed about the Tour but imagined it as an impossible world. I’m the boy 
who rode up little Caerphilly mountain outside Cardiff and pretended I was riding away from the 
pursuing pack on Alpe d’Huez. I started on a cheap mountain bike called the Wolf that had a little 
speaker on the handlebars that could make police siren and fire engine noises, and I ended on the 
Champs-Élysées on a carbon-fibre wonder painted yellow. I rode towards places like Cowbridge 
and Merthyr with jam sandwiches in my back pockets, freezing on winter mornings and being so 
exhausted when I got home that I had to press the doorbell with my forehead, and I celebrated in 
Paris with champagne in glass flutes.


No more the nearly man. No more the rider who could do everything except hold onto the biggest 
prizes of all. No more talk of cracking in the third week, and no more giving my all just in the 
service of someone else. It happened, eventually. One year, one race, I showed them. 


A lot about me stayed the same in 2018. But something changed, too. The boy who climbed a 
mountain climbed to the top of the world. And it was all yellow.
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SECTION B (Writing): 40 marks


B1.	 In this task you will be assessed for the quality of your proofreading.


	 Look carefully at the text below.


	 Circle the five errors and write them correctly in the spaces below.� [5]


	 Cycling is a good way to control or reduce weight as it raises your metabolic rate, builds 
muscle and burns body fat. For these people trying to lose weight, cycling must be conbined 
with healthy eating. Cycling is a comfortable form of exercise and can be built up slowly. the 
difficulty and lenth of time spent doing it can vary according to a persons fitness and ability.


	 1.	 	


	 2.	 	


	 3.	 	


	 4.	 	


	 5.	 	
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B2.	 In this task you will be assessed for the quality of your writing skills. 


	 20 marks are awarded for communication and organisation; 15 marks are awarded for writing 
accurately.


	 You should aim to write about 350–500 words.


	 Choose one of the following for your writing:� [35]


	 Either,	 (a)	 Write an account of a time you achieved something you had worked hard for.


	 Or,	 (b)	 ‘Sport is good for everyone.’


			   Write an essay explaining the importance of sport, giving clear reasons and 
examples.


	 The space below can be used to plan your work before starting your writing on the next 
page.  


	


PLAN:
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Some range here. Answer shows understanding and range if not analytical skill. 
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Straightforward details here.
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Decent range and achievement on C. A bit vague /narrow on D. 

Some partial points - gets the support and is partway towards the fact that it was won by G 

but doesn't make the point clearly. 
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This is basic and very much 'beginning to comment'. Gets the overview of his character and some 

ability to track basic events.
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Begins to show some understanding of character. Sometimes not fully understood - doesn't quite pursue the evidence 

in the right direction always, but really working towards making inferences.
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Lines up evidence with impressions / question focus. Some decent range here. .
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Straightforward points. 
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Makes three clear points. BP1, BP3 and BP8
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B2

Basic in content and development. Some attempt to develop ideas but clearly limited.

Basic errors.
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Typewriter

Plenty of detail and some audience awareness here - albeit modest.

Some basic errors and tense wobbles. 
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Typewriter

Low Band 4?

Some well-judged ideas. Clear sense of intended reader. Limited awareness of paragraphing but

sequenced helpfully and with some coherence.



WA 10

Wide range of vocab used with precision.

Sentence structures show some intent and are generally secure.
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Very basic/thin writing with basic and numerous errors (inconsistent). 

General details and ideas are lacking in development. 
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Some apt detail and development.

Quite an interesting piece. 



Most sentencing accurate. 

Some precise vocab.  
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Some convincing detail. 

Purposeful and mostly well-judged. 



Ambitious vocab in places but just too many errors to sustain a mark in Band 4 for WA. 
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This does not answer the question.  Nothing worthy of credit here.
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